
Lit. No. 42944, Rev. 00 1 February 15, 2012

  A DIVISION OF DOUGLAS DYNAMICS, L.L.C.

Western Products
PO Box 245038
Milwaukee, WI  53224-9538
www.westernplows.com

56131K-2 MOTOR RELAY KIT

Installation Instructions

22" Red Battery Cable

Brown/Red Wire

Vehicle Control Harness

Red Vehicle Battery Cable

Wire from Vehicle Control Harness
Straight Blade: Black/Orange or
  Orange/Black
V-Plow: Brown/Green

Red/Green Wire
(Isolation Module
System Only)

NOTE: Overtightening terminal attaching nuts 
may cause seal failure, resulting in premature 
failure of this relay.

NOTE: When using the 56131K-2 Motor Relay Kit 
for solenoid control hydraulic power units, DO 
NOT attach the jumper wire. Attaching the jumper 
wire will damage the vehicle wiring harness.

NOTE: Position motor relay terminals up, horizontal 
or in between.

Torques
Small Terminals – Maximum 15 in-lb.
Large Terminals – Maximum 35 in-lb.

For Solenoid Hydraulic Units:

Non-FLEET FLEX Electrical System – Straight Blade and MVP® Snowplows



42902  MOTOR RELAY KIT

Lit. No. 42944, Rev. 00 2 February 15, 2012

Western Products reserves the right under its product improvement policy to change construction or design details and furnish equipment 
when so altered without reference to illustrations or specifi cations used. Western Products or the vehicle manufacturer may require or 
recommend optional equipment for snow removal/spreaders. Do not exceed vehicle ratings with a snowplow/spreader. Western Products 
offers a limited warranty for all snowplows, spreaders and accessories. See separately printed page for this important information. The 
following are registered (®) or unregistered (™) trademarks of Douglas Dynamics, L.L.C.: ICE BREAKER™, MVP®, WESTERN®.

Printed in U.S.A.

NOTE: Overtightening terminal attaching nuts 
may cause seal failure, resulting in premature 
failure of this relay.

NOTE: Position motor relay terminals up, horizontal 
or in between.

For Cable-Operated Hydraulic Units:

Attach battery (BAT) label.

Attach red jumper wire 5/16" ring terminal and 
cable from positive battery post to a large terminal 
using a 5/16-24 hex nut and lock washer.

56155 Jumper Wire (Use existing 
or purchase separately.)

Attach black wire
from plow control to
open small terminal.

Attach cable from motor 
to an open large terminal.

Attach the red jumper wire
#10 ring terminal to a small terminal
using a #10-32 hex nut and lock washer.

For ICE BREAKER™ Spreaders (Operates as a Starter Relay):

Attach cable from
engine starter motor
to open large terminal.

Attach white control
harness wire to open
small terminal.

Attach cable from battery positive post to a large 
terminal using a 5/16-24 hex nut and lock washer.

Attach red jumper wire 5/16" ring terminal
to mounting plate using the 1/4" mounting
hardware. This must establish a good
ground connection.

56155 Jumper Wire
(Use existing or purchase 
separately.)

Attach red jumper wire #10 ring terminal 
to a small terminal using a #10-32 hex nut 
and lock washer.

#10 Ring
Terminal

5/16" Ring
Terminal

16 or 18 GA GXL Insulated Wire, 3-1/2"
56155 Jumper Wire

#10 Ring
Terminal

5/16" Ring
Terminal

16 or 18 GA GXL Insulated Wire, 3-1/2"
56155 Jumper Wire

Torques
Small Terminals – Maximum 15 in-lb.
Large Terminals – Maximum 35 in-lb.


